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MARKS:  150
TIME:  2 hours

This question paper consists of 8 pages.
INSTRUCTIONS: 

· Write neatly in blue pen

· Answer ALL questions on the writing material provided

· RULE OFF after each question
	SECTION A

QUESTION 1
	
	


	1.1
	Various options are provided as possible answers to the following questions.  Choose the correct answer and write only the letter (A to D) next to the question number (1.1.1 to 1.1.10) in your ANSWER BOOK, for example 
1.1.11  D.
	
	


	
	1.1.1
	The smallest living micro-organisms

	
	


	
	
	A

B

C

D
	Viruses
Bacteria
Protista 

Fungi 
	
	


	
	1.1.2
	The following are sections of aerobic respiration:
i) Oxidative phosphorylation

ii) Glycolysis

iii) Kreb’s cycle

Which of the following indicates the correct order of the aforementioned?


	
	

	
	
	A

B

C

D
	i→ ii→ iii

ii→ iii → i
ii→ i→ iii
i→ iii→ ii
	
	


	
	1.1.3
	The name of the energy carrier molecule is…
	
	


	
	
	A

B
C

D
	ADP.
ATP.
photosynthesis.
cellular respiration.
	
	

	
	
	
	
	
	

	
	
	
	
	
	


	
	1.1.4
	Yeast undergo the process of…
	
	


	
	A
B
C
D
	baking. 
sexual reproduction.

photosynthesis.

cellular respiration.
	
	


	
	1.1.5
	Which of the following is part of the alimentary canal?
	
	


	
	
	
	
	


	
	A

B

C

D
	Salivary gland
Pancreas

Liver

Pharynx 
	
	


	
	1.1.6
	A strict vegetarian diet where even honey is not consumed:
	
	


	

	A

B

C

D
	Lacto-ovo vegetarianism
Lacto vegetarianism

Ovo vegetarianism

Veganism
	
	


	
	
	
	

	
	1.1.7
	A psychological condition where a person refuses to eat despite food being available:
	
	


	
	A

B

C

D
	Marasmus
Bulimia

Anorexia

Obesity
	
	


	
	1.1.8
	Which of the following is a product of photosynthesis
	
	


	
	A

B

C

D
	
 ?
Oxygen
Carbon dioxide

Water

Sunlight
	
	


	
	1.1.9
	The light phase of photosynthesis occurs in the … 
	
	


	
	A

B

C

D
	Grana.
Stroma.
Ribosome.
Starch Grain.

	
	


	
	1.1.10
	Germ layer from where the gut originates
	
	


	
	A

B

C

D
	Mesoderm
Ectoderm

Endoderm

Alimentary canal 


	
	(20)


	1.2
	Give the correct biological term for each of the following descriptions.  Write only the term next to the question number (1.2.1 to 1.2.9) in your ANSWER BOOK.
	
	


	
	1.2.1

1.2.2

1.2.3

1.2.4

1.2.5
1.2.6

1.2.7

1.2.8

1.2.9

1.2.10
	Body plan of animals that cannot be divided to form mirror images 
Animals that have two germ layers 

The process of chewing food in the mouth

Enzymes that digest fats

Yellow-green alkaline fluid in the alimentary canal which has no enzymes

Chemical used to test for the presence of starch

The organelle in plants which traps light
Structure of the leaf that allows gases to enter

Phase of photosynthesis where ATP is used
Glass building wherein plants are given ideal conditions for growth
	
	(10)


	1.3
	Indicate whether each of the statements in COLUMN I applies to          A ONLY, B ONLY, BOTH A AND B or NONE of the items in            COLUMN II. Write A only, B only, both A and B, or none next to the question number (1.3.1 to 1.3.5) in the ANSWER BOOK.
	
	


	
	COLUMN I
	COLUMN II

	1.3.1
	Glycolysis occurs in…
	A: Mitochondria
B: Cytoplasm

	1.3.2
	Has a blind gut
	A: Annelida
B: Chordata

	1.3.3
	Significance of seeds
	A: Dispersal
B: Surviving harsh conditions

	1.3.4
	Has parts in multiples of 3
	A: Monocotyledonous
B: Dicotyledonous

	1.3.5
	Peristalsis occurs
	A: Oesophagus
B: Small intestine

	
	
	
	 (5 x 2)
	
	(10)


	1.4
	Study the flower below and answer the questions that follow.
[image: image1.jpg]



	
	


	
	1.4.1

1.4.2

1.4.3

1.4.4

1.4.5
1.4.6

1.4.7

1.4.8

	Label parts A and G. 

What is the collective name of parts B and H together?

Name the whorl to which D belongs. 

What is the function of F?

Would this flower be wind or insect pollinated?

Give a visible reason for your answer. 

To which plant group will the plant pictured above belong?

Give the letters of the parts that produce gametes. 


	2
1

1

1

1

1

1

2

(10)
	


	TOTAL SECTION A:
	
	50


	SECTION B

QUESTION 2
	
	


	2.1
	A sample of mouth cells was taken from a patient suffering from a throat infection. The bacteria on the swab were cultured on a nutrient agar in a petri-dish. A multidisc with a different type of antibiotic at the end of each of its six arms was then placed on top of the bacteria. The two halves of the petri-dish were then sealed together and placed in an incubator at 30 ̊C. The following diagram shows the result of the investigation after 48 hours:

[image: image2.emf][image: image3.png]Key:

A-F | — six different types of antibiotic

— Zone of bacterial growth

— Zone of no bacterial growth





	
	

	
	2.1.1

2.1.2

2.1.3
2.1.4
2.1.5


	State ONE difference in activity between antibiotics B and F.
The patient was known to be allergic to antibiotic B.

a) Which antibiotic should the patient be given?

b) Explain your answer to QUESTION 2.1.2 (a).

The organism causing this infection seems to be resistant to two of these antibiotics.

a) Which TWO antibiotics are referred to in the statement above?

b) Explain your answer to QUESTION 2.1.3 (a).

The patient was given a 5-day course of the appropriate antibiotic. Explain why it is important to finish the course of antibiotics, even if you feel better.

In the early part of the twentieth century, spiders' webs (in which many fungal spores were trapped) were placed on small cuts and wounds. Suggest ONE reason for the following:

a) Why this might have been a useful procedure

b) Why it could have been dangerous

	2
1

2

2

2

3

2

2(16)


	

	2.2
	Blight can have an impact on the economy.


	
	


	
	2.2.1

2.2.2
2.2.3 

	What type of micro-organism causes blight?

How can blight affect the economy?

How can blight infections be managed?


	1
3

3

(7)


	


2.3
Explain how nitrogen fixing bacteria assists animals.



        (4)
	2.4


	2.4.1

2.4.2
2.4.3

2.4.4 
	Name the two animal phyla that are not bilaterally symmetrical
Differentiate between the two different types of coelom found in animals.

All animals that move are bilaterally symmetrical and all those that have coeloms have a blood system. Why do these relationships occur?

Explain how invertebrates can have a positive impact on agriculture and ecosystems.
TOTAL QUESTION 2:
	   2
   2

   4

   5

(13)

40
	


	QUESTION 3
		

	3.1

Study the table below and answer the questions that follow.

PLANT GROUP

EXAMPLES

Bryophytes

A

B

Cycads, conifers and gnetophytes.

C

Horsetails, whisk ferns.

Angiosperms

D


	
	
	
	
	


	
	3.1.1

3.1.2
3.1.3

3.1.4

3.1.5
	Give the names of groups B and C respectively.

Name 2 examples represented by A.

Name 2 examples represented by D.

Bryophytes are said to be the simplest of plants. List the characteristics of bryophytes. 

Describe TWO advantages and a disadvantage of asexual reproduction.


	2
2
2
6

3

(15)


	

	3.2
	Tabulate THREE differences between aerobic and anaerobic respiration.
	(7)
	


	3.3
	Study the diagram of a fossil skull and answer the questions that follow. [image: image4.jpg]diastema  homy pad

incisors

mofars  premolars





	
	

	
	
	
	

	
	3.3.1

3.3.2

3.3.3
3.3.4
3.3.5
	Based on the teeth of the organism, what can you conclude about its mode of nutrition?

Give TWO visible reasons for your answer in 3.3.1.

How are the teeth of this organism suited for its diet?

Which type of tooth is absent in this organism?

Describe the processes of digestion that takes place in the mouth.

	
	1
2

2

1

6

(12)

	
	
	
	
	


3.4
Study the diagram below of a microscopic structure found within the 


alimentary canal.
[image: image5.jpg]



	
	3.4.1

3.4.2

3.4.3

	Where in the alimentary canal will the structure above be found?

What is the significance of the columnar epithelial cells being a single row? 

Predict the consequences on nutrition if the lacteals were blocked, but structure labelled A was not blocked?

TOTAL QUESTION 3:

	
	1

2

3

(6)
40


	TOTAL SECTION B:
	
	80

	SECTION C

QUESTION 4
	
	


	
	Explain the impact of the different external factors on the rate of photosynthesis. Also state why photosynthesis is a biologically important process.
	
	


	
	
	CONTENT SYNTHESIS


	(17)

(3)

(20)


	
	NOTE:
	NO marks will be awarded for answers in the form of flow charts or diagrams.
	
	


	TOTAL SECTION C:

GRAND TOTAL:
	
	20

150
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